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Time 2 V2Hours U C Vahid Total Score 80
Part A Score

1 Peninsular plateau 1

2 Indian National Army (INA) 1

3 President of India 1

4 Rabi 1

5 EXIM Bank of India 1

6 Originate from the mountain ranges in the peninsular plateau. 3

Comparatively smaller catchment area

Intensity of erosion is less / Rivers receive water only from rainfall

Do not create deep valleys as they flow through hard and resistant rocks

Less irrigation potential / Water flows in these rivers in rainy season ( Monsoon)
Potential for inland navigation is low 3 Poins

7 * Money can be sent and bills can be paid anywhere in the world from home 3
* Saves time
* Low service charge

8 Hierarchical organisation 3

Permanence

Appointment on the basis of Qualification

Political Neutrality

Professionalism 3 Points & explain, see last

9 Survey is the most suitable method for the study of sociology. It helps to formulate |3
a comprehensive point of view of the topic, based on the data collected from a
group of selected people. Survey method is used when data is to be collected from a

larger population. Questionnaires are commonly used in social surveys. The group
under study is called respondents.

10 conventional sources of energy Non-conventional sources of energy 3
The mineral resources such as coal, Solar energy, wind energy, wave energy,
petroleum, etc. are being harnessed for | tidal energy, biogas, etc. are the major
energy requirements since ages. Hence |non-conventional energy sources in
such energy sources are called India. These cheap, renewable, and
conventional sources. However, these environment - friendly sources
minerals are getting exhausted from the
earth due to their non-renewable
nature. Also, the burning of these
minerals creates large scale
environmental pollution. 3 Points

11 Sri Narayana Guru Sri Narayana Dharma Paripalana Yogam |4
T. K. Madhava Vaikom Satyagraha
A.K. Gopalan Guruvayur Satyagraha
T Prakasam Andhra Kesari

12 Government's policy regarding public revenue, public expenditure and public debt |4




is called fiscal policy.
* Attain economic stability
* Create employment opportunities
* Control unnecessary expenditure
* To stabilise the growth rate of economy
* To maintain the equilibrium in the balance of payment 1+3 Points
13 Large scale import of machine-made British textiles in India U C Vahid 4
The machine-made textiles sold easily, for they were cheap.The expansion of
railway. The imported fabrics reached the villages. Indian weavers lost their
business in villages. Due to the higher tax levied, the price of Indian textiles
exported to Britain increased. Weavers gave up their work massively due to the
exploitation and torture of the British officers.
* Pottery- Import of aluminium vessels, * Tanning- Export of raw leather to Europe
* Carpentry- Use of machines made of metals 4 Points
14 Lawyers shall boycott the courts 4
Boycott election
Students shall boycott English school
Denial of taxes
Returning the British awards and prizes 4 Points
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PART B
16 Bharat Mata , 'Sati, 'Village Drummer, Sakuntahala, Village life 3 Pictures | 3
Or Fazl Ali 1+2




The demands from different parts of India for the formation of states on the
basis of language

In 1920 the Nagpur session of the Indian National Congress resolved to form its
state committees on the basis of language

Potti Sriramalu, a freedom fighter, started satyagraha for the formation of
Andhra Pradesh for Telugu- speaking people.

After 58 days of fasting, his martyedom and it intensified the mass agitation
In 1953, the Government of India formed the state of Andhra Pradesh for
Telugu speaking people

The Government of India formed a Commission to reorganise Indian states
The Parliament passed the States Reorganisation Act in 1956

17 The apparent position of the Sun during the Earth's revolution will be over the |3
Equator on March 21 and September 23. Hence the length of day and night will
be equal during these days on both the hemispheres These days are called
equinoxes.
OR Freely moving bodies get deflected to the right in the Northern Hemisphere and
to the left in the Southern Hemisphere. This is due to the force generated as a
result of Earth's rotation which is known as the Coriolis force.
The winds in the Northern Hemisphere deflect towards their right and those in
the Southern Hemisphere deflect towards their left
18 Ramakrishna Mission 1+2=3
* Opposed caste system and social evils.
* Propagated the concepts of liberty, equality and freedom of thought.
OR 1954 U C Vahid 1+1+1=
Jawaharlal Nehru and Chou En-lai /Prime Minister of China 3
19 SSA Goals RUSA Goals 4
* To ensure universal education to all |+ To increase the access to higher
up to higher secondary level education 2X2
* To ensure quality and equity * To improve the quality of higher
« To promote the vocational education |education
strengthen
OR * The right to be protected against the marketing of goods and services which |4 points
are hazardous to life and property.
* The right to be informed about the quality related aspects of goods and
services.
* The right to have access to goods and services at fair prices.
» The right to be heard and to seek redressal at appropriate forums.
* The right to consumer education.
20 Protection of health 4
Provide educational facilities
Implementation of welfare programmes
Provide transportation facilities
Making a survey
Poverty alleviation 4 points
OR Associations Media

There are several political, social,
economic and cultural associations

Media plays an important role in the
formulation of civic consciousness.




in our society. Such associations many |Print and electronic media influences
a time equip the individuals to work the society trenedously. News and
voluntarily with a service mind. information reach the masses through
These associations can create the media. Judicious and objective
awareness among individuals about information lead to the formulation
environment and human rights. of creative ideas. Media should be
independent and impartial.
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i River

ii Grave

iii Church

iv 702368 U C Vahid

1X4

OR

The method of obtaining photographs of the earth’s surface continously from
the sky by using cameras mounted on aircraft is known as aerial remote
sensing.

In each aerial photograph, nearly 60% of the places depicted in the adjacent
photo is included. This is done for ensuring contiguity and to obtain three
dimensional vision with the help of stereoscope. This is called overlap in aerial
photographs.

Two such photographs of adjoining areas with overlap are called a stereo pair.
When viewed through a stereo scope, we get a three dimensional view of the
area depicted in the stereo pair.
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Fair price, * Quality * Reliability * After sale services * Durability, Correct
quantity, Good information, 4 Points

OR

* Individuals take efforts to develop their own skills.

* Family creates an environment for the development of the potential of
individuals.

* Various institutions and agencies provide facilities for education and training.
* Nation provides the necessary facilities for its people to develop their skills.
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For the existence of a state, the people should live unitedly with mutual
understanding, inter dependence and common public interest. There is no state
without people. However, the minimum and the maximum number of people
for a country are not fixed. Population which is too much or too less is not
good for a state.

The people of a nation need not belong to any single religion, speak any
particular language, or follow a particular culture. However, they should live
unitedly with common nationalism.

OR

Family, Education, Social system, Associations, Political system

Not only favourable circumstances, but certain negative and challenging
situations will also be helpful in moulding strong civic consciousness in an
individual.

4X1 =4
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Cyclones and anticyclones are variable winds

Cyclones are caused by the formation of low atmospheric pressure at the
centre surrounded by high pressure regions. Strong whirl winds blow towards
such low pressure centres from the surrounding high pressure areas. Due to
Coriolis effect winds flow in the anti-clock wise direction in the Northern
Hemisphere and in the southern Hemisphere.

Anti cyclones are phenomenon where strong whirl winds blow from the high

1+2+2




pressure centres to the surrounding low pressure areas. Due to Coriolis effect
the pattern of winds in anti cyclones is clock wise in the Northern
Hemisphere and anti clockwise in the Southern Hemisphere.

OR

i 2pm+512 =712 pm

ii 2pm-512=812am last remaining answers

1+ 1+1
+1+1=
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The French society was divided into three strata and they were known as the
Estates.

The middle class . Farmers and crafts man

No role in administration

Paid many types of taxes

Low social status U C Vahid
Similar to the French society, the States General also had three estates.
Traditionally, each Estate would vote as group and had one vote. As a result,
the nobility and the clergy could always overrule the Third

Estate. The first two Estates argued for Estate-wise single voting system, while
the Third Estate (the Commons) demanded individual vote for each member of
all the three estates.

While the arguments went on, the members of the Third Estate declared
themselves as the National Assembly of France. They assembled in the tennis
court nearby, and swore not to leave until they had framed a constitution of
France. This event is known as the "Tennis Court Oath'.

6
3+3

Do you

forget to write

Stimulated
all the later
revolutions
in the world

Ended the fuedal
system in
Europe, and
threatend the
autocratic rulers.

Spread the ideas
of equality,
liberty and

fraternity

Influence
of French
Revolution

Proclaimed
that nation is not
merely a region,
but the people

Helped the
wth of
the middle class

Contributed the
concept of
people’s
sovereignty

Led to the
emergence of
nationalism

this? Hints?

OR

Italy got nothing, though she was with the victors in the First World War.
* Post-war destruction of industries, unemployment, increase in tax, inflation

3+3




fascism.

Albania etc.

etc. kept people away from the government.
* Industrialists, in fear of Italy moving to socialism, were prompted to support

Mussolini resorted to despotic measures in the political and economic fields
of Italy. Violence and ferocity were the strategies of the Fascists. Socialists
and leaders of peasants and workers were proclaimed as enemies of the
nation. Those who opposed the Fascist Party were executed. The aim of
Mussolini was to restore ancient Roman Empire. Using his military force the
'‘Black Shirts', Mussolini suppressed the opponents through Fascist policies
His aggressive foreign policy led him to conquer nations like Ethiopia,

Question 24 balance

U C Vahid 9447820303

SIHSS Ummathur
Vadakara — Clt

Local Time

When the Sun is vertically overhead, it is noon. Thus the time
estimated at each place, based on the position of the Sun, is
termed as the local time.

GMT

The zero degree longitude is known as the Greenwich Meridian
Time is calculated worldwide based on the Greenwich Line.
The local time at the prime meridian is known as the Greenwich
Mean Time.

Standard Time

Each country in the world considers the longitude that passes
almost through its middle as the standard meridian. The countries
with large longitudinal extent estimates more than one local time
by considering more than one standard meridian. The local time
at the standard meridian is the standard time of that

country.

Bureaucracy is organised in such a way that there is one employee
at the top and the number increases when it reaches the lower
ajlcvels. This is known as hierarchical organisation.

T

Hierarchical organisation

Persons appointed will continue in service till the age of retirement.

Permanence

Employees are recruited and appointed on the basis of
educational qualification.

Appointment on the basis of Qualification

Features of Bureaucrac

Bureaucrats are liable to implement the policies of whichever
party comes to power. Party interests should not reflect in their
work. They should act neutrally.

Political Neutrality

Every government employee must be skilled in their work.

Professionalism

THANK 70V




